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QUESTION 1

A customer has two sites within a short distance. They require a primary storage solution which supports automatic
failover for their block storage, SMB shares, and NFS home directories. Which HPE solution best fits the customer\\'s
requirements? 

A. HPE 3PAR 

B. HPE Nimble 

C. HPE Simplivity 

D. HPE StoreOnce 

Correct Answer: A 

 

QUESTION 2

A customer has started to load their HPE 3PAR 8450 with data, but are not sure what data reduction they are achieving.
They ask you to run analysis and estimate the deduplication ratio of data currently on a virtual volume (VV). Which CLI
command should you use to understand data reduction ratios? 

A. showvv 

B. tunevv 

C. convertvv 

D. checkvv 

Correct Answer: D 

Reference: https://manualzz.com/doc/34471724/hpe-3par-adaptive-data-reduction 

 

QUESTION 3

Refer to the exhibit, which reflects the Bill of Materials (BOM) configuration for one datacenter. 
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A customer needs a new storage solution of two HPE 3PAR 8440 arrays. The customer\\'s environment consists of
eight physical servers in each data center attached to the SAN and one StoreOnce 3540 system with two FC I/O cards.
The 

distance between data centers is less than 75 meters. 

What should you add the BOM to meet the customer needs? 

A. one HPE 25m Mini SAS High Density Active Optical Cable for each HPE 3PAR 8440 

B. one HPR 3PAR StoreServ AC RPS Service Processor 

C. one HPE 3PAR StoreServ 8000 Direct Connect Cabling Option for Drive Enclosure for each HPE 3PAR 8440 

D. one HPE SN3000B SAN Switch 12-port Upgrade E-LTU per switch, appropriate number of SFPs and cables 

Correct Answer: B 

 

QUESTION 4

A customer experiences a performance issues and blames the HPE 3PAR array. However, you suspect it is caused by
a noisy neighbor situation in the VMware environment. Which approach should you use to find and prove a root cause? 

A. Use Brocade Network Advisor to gather data for analysis 

B. Use the advanced performance reports in SSMC 

C. Use HPE SAF Collect to gather data for SAF Analyze 

D. Use HPE InfoSight Cross Stack Analytics 

Correct Answer: D 
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QUESTION 5

You completed the HPE Nimble storage replication partnership in a customer environment. 

When you test the network connection from the primary partner to the secondary partner, the test fails; when you test
the connection from the secondary to the primary partner, the test is successful. 

What is the most likely cause of the failure? 

A. The secondary partner name is not configured properly 

B. The secondary array network ports are misconfigured 

C. The test can only be performed from the secondary array 

D. The primary partner name is not configured properly 

Correct Answer: A 
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